Hi Prof. Kuusk,

I still run the new version in Visual Studio on Windows computer.

The input file can be read now. Now “inx2” was the input file, yet another problem appeared in
the line: rlambda = wlarr(jbnd) in the function outl.f.

| snapped several screenshots as follows.

o8 Consolel (IE/EEIR) - Microsoft Visual Studio
SUH(F) #HIE(E) #E(V) IME(P) 4AE(B) IERAL(D) EBW(M) HdE(A) I.E.._(D FEEE(C)  MR(S) ﬁ‘ﬁ(N) sHW) FEEH)

e RS A ™ - ) | d B9 -850 ‘ P |Debug Win32 ‘LQ |output
0w e GFERE(E2 0P8 3dRQi P 0 a(s2E% Qe 350--18
| #HE | [5622] Consolel.exe -| &2 [18560] TR - W % 8l Consolel.exe!OUT1(INTEGER(4) UOB, -

outl.f x RigZERG

wriite (iwr, ~ (ai)l) trl

do jbnd = 1, nbnds
rlambda = wlarr (jbnd)
jwl = nint ((rlambda - (400.d0 - wlstep)) /wlstep)
write (imr, ~(£f8.1, 2z, 7gl3.5)7)

B wlarr(jbnd), rth(jbnd), bdown(jbnd},
B rsth(jbnd), sgaljwl), rerl(jbnd), rerl(jbnd), rdif (jbnd)
enddo
c kdkkpkksrk Bnd of the spectrum loop
goto 777
endif

if (ijob .eq. 2) then
open [(iwr, file = oufile, status = " old )
do j =1, 6000
read (iwr, ' (1x})’, end = 67)

enddo
X continue
backspace iwr
9 rlambda = wlarr (jbnd)
jwl |&# rlambdal 2 - 660.000000000000 = Llstep) ) fwlstep)
write (iwr, (2}’ ] trl
write (iwr, ' (3(a, £5.1))°) '# Sun zenith =, thsd
B’  View azimuth =, phid, '  View zenith step = ', dthvd
write (iwr, ~f(a, £5.1, 2a, £5.1)°) "# Wavelength = 7,
B rlambda, * nm LT 8/a =7, sqaliwl)
write (iwr, ' (a, £8.4, 15x, a, f8.4)") '# <caCl: ', cacl,
B ‘crcl: ', arel
if (cacl .gt. crcl) write (iwr, " (a/a)’) trl,
B T# #%x Warning!: canopy closure CaCl » crown closure CrCl
write (iwr, " f(a)’) trl
* write (iwr, " (2a)’) "# thv', ~ refl ’
write (iwr, " (da, 4(7x, a), 4(4x, all"}) "# thv', ’ refl 7,
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o8 Console1 (IEZERLS) - Microsoft Visual Studio
) SBE(E HEN) IEE(P) 4mB) (D) BEBAM) HdE(A) TE(T) AEFRSEEC) WEK(S) SNy  OW)  FEEH)

;JJ'J'LJHJ|&‘QJ ) - ';]':'_‘,|P Debug Win32 ‘[’;!”output
FIEEZ20VB @3 QAir v ada(osam3e|yd|ew 35 (3-i0
!i #72: | [5632] Consolel.exe -| e | [18560] 2R -| ¥ W 05 | Consolel.exe!OUT1(INTEGER(4) LB, ~|

wri_te (iv&', ’(_a_)’) tri

[
do jbnd = 1, nbnds
rlambda = wlarr [jbnd)
jwl = nint ({rlambda - (400. d0 - wlstep)) /wlstep)
write (iwr, " (f8.1, 2z, 7gl3.5)7)
B wlarr (jbrnd), rih(jbnd), bdown(jbnd),
rsth(jbnd), sqaliwl), rcrl(ibnd), rerl(jbnd), rdif (jbnd)
enddo
c kkkkpkddkt Bnd of the spectrum loop
goto 777
endif
f
if (ijob .ea. 2) then
open (iwr, file = oufile, status = old )
do j = 1, 6000
read [iwr, ' (1x), end = &7}
enddo
67 continue
backspace iwr
L2 rlambda = wlarr (jbnd)
wl = nint ((rlanbdd# jbnd A - 1056947843 = | fwlstep)
write (iwr, ' (a)’} trl
write (iwr, ' (3(a, £5.1))7) '# Sun zenith =, thsd,
B’  View azimuth = ', phid, °  View zenith step =, dthvd
write (iwr, '(a, £5.1, 2a, £5.1)°) '# Wavelength = ',
2 rlambda, ' rm Y B =T cegaliwl)
write (iwr, ' (a, £8. 4, 15x, a, £8.4)°) '# cacl:’, cacl,
@ ‘orcl: 7, crcl
if f(cacl .gt. crcl}) write (iwr, ~(afa)’ ) trl,
] T# ##% Warning!: canopy closure CaCl » crown closure CrCl
write (iwr, " (a}"} trl
* write (iwr, " (2a)°) "# thy', ’ refl '
write (iwr, ’ (4a, 4(7x, a), 4(dx, a))’ ) "# thv, ~ Fefl, s
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o8 Consolel (IEAEEHS,) - Microsoft Visual Studio
i) fHwE(E) WEN) DHEP) 4&REE) ER0) BV SgEA) IR #ESEEC) WB(S) SiN) BLW)  #EH)

Pl | % 5 ,E“" -0 - L3-CL| b | Debug Wwin32 |Lﬁ\output
P lwbh e BGEEZ20P03 4@ QAP uaalsEmEa|Quw %38
{ 3#32: | [5632] Consolel.exe | 72 [18560] £EE -| W W iEmE | Consolel.exe!OUTT(INTEGER(4) LIOB, -

outl.f x Rigekhi

write (i, "2 trl i

@
do jbnd = 1, nbnds
rlambda = wlarr (jbnd)
jwl = nint((rlambda - (400.d0 - wlstep)) /wlstep)
write (imr, ' (£f8.1, 2%, 7g13.5)7)
2 wlarr (jbnd), rthijbnd!, bdowm(jbnd),
i rsth(ibnd), sgaliwll, rerl{ibnd), rerl(jbnd}, rdif (jbnd)
enddo
o sedkkksrst Bnd of the spectrum loop
goto 777
endif
&
if (ijob .eg 2) then
open (iwr, file = oufile, status = "old )}
do j =1, 6000
read (iwr, ~(lx)’, end = 67)
enddo ¥ iwr Q- I?|
87 continue
backspace iwr
L 4 rlambda = wlarr (jbnd)

jwl = nint{(rlambda - (400. d0 - wlstep)) /wlstep)
write (iwr, " (a)’} trl

write (iwr, ’(3(a, £5.1})°)} "# Sun zenith = ', thsd,
@' View azimuth = ', phid, = View zenith step = ', dthvd
write (iwr, " (a, f5.1, 2a, f5.1)7) '# Wavelength = ',
® rlamnbda, ' mm T8 /e =", sqa(iwl)
write (iwr, *{a, 8.4, 15x, a, f8.4)°) "# cacl: ’, cacl,
B errly Yy wetiel
if (cacl .gt. crcl) write (iwr, ~(a/a)’ )} trl,
B "# #%% Warning!: canopy closure CaCl » crown closure Cril’

write (iwr, " (a)’} trl
® write (iwr, " (22)") “# thy', ? refl
P (da, 4(7z, a), 4(4x, a3)’)
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o0 Consolel (IEFEEiR) - Microsoft Visual Studio
M{HEF) HRAR(E) #IE(V) THEP) &£RkB) ERD) BERAM) BdRA) TR AESRC) WES) Sty J0OMW)  FEIH)

Bl -S| %A @A 9 - -85 b [Debug Win32 | |output
iDwbhrREEZ2(000 0343250 1 a d[2=2% Q| em 3-8
!i #72: | [5622] Consolel.exe - &1 |[18560] T2 -| W ' 5805 | Consolel.exe!OUTT(INTEGER() LJOB, ~

outl.f x RigZERi

wrile (i, ,EE;),) trl

c
do jbnd = 1, nbknds
rlambda = wlarr (ibnd)
jwl = nint ((rlambda - (400.d0 - wlstep)) /wlstep)
write (iwr, ~(f8 1, 2z, 7gl3.5)7)
B wlarr(jbndi, rthiibnd}, bdown(ibndi,
B reth(ibnd), sqa(iwl), rcrl(ibnd), rsrl(ibnd), rdif(jbnd}
enddo
C df+kkdkdds BEnd of the spectrum loop
goto 77T
endif
o
if (ijob .eq. 2) then
open [iwr, file = oufile, status = "old )}
do 1 =1, 6000
r{jj a-1& (lx)’, end = 67}
enddo
87 continue
backspace 1w
L 3 rlambda = wlarr (jbnd)
jwl = nint((rlambda - (400. d0 - wlstep)) /wlstep)
write (iwr, ~(a)") trl
write (iwr, *(3(a, £5.1))7) "# Sun zenith = ', thsd,
B’ view azimuth = ', phid, = View zenith step = ', dthvd
write (iwr, "(a, £5.1, 2a, £5.10°) "# Wavelength = ',
B rlambda, * nm L7 8/0 =7, sqaliwl)
write (iwr, " (a, £8.4, 15x, a, £8.4)7) "# cCaCl: ", cacl,
B “ErEle T, crol
if (cacl .gt. crcl) write (iwr, ~(a/a)’) trl,
B "# %% Warning!: canopy closure CaCl » crown closure Crcl’
write (iwr, " (a)") trl
* write (iwr, " (2a)") "# thv', ’ refl ’
write (iwr, *(da, 4(7z, a), 4(dx, a))') "4 the', ’ refl ',
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o® Console1 (IEZEM) - Microsoft Visual Studio
MiH(F) fHE(E) WENV) DEEP) 4kE) \BED) BV BEA) TR #RESEC W) STy JEDOW)  #EBiH)
ol (5 d | & A9-o L5 | P |Debug Win32 |[ﬁ Ioutput

i GEE 2200 esdaQlirtaaloa@ea guem % 3-8
l #I2: | [5622] Consolel.exe -| &2 (18560 B -| W\ #EiEE: | ConsoleT.exe!OUTT(INTEGER(4) OB, ~

outl.f x RigeehRs
write (iv;rr, T2 trl

do jbnd = 1, nbnds
rlambda = wlarr (jbnd)
jwl = nint((rlambda - (400.d0 - wlstep)) /wlstep)
write (imr, ' (fS8.1, 2z, 7g13.5)7)
] wlarr (jbnd), rth(jbnd!, bdown(jbnd},
B rsth(ijbnd), sqaliwll, rcrl(jbnd), rerl(jbnd), rdif (jbnd)
enddo
c #ddddrkkdd Bnd of the spectrum loop
goto 777
endif

if (ijob .eq 2} then
open (iwr, file = oufile, status = "old )
do j =1, 6000
read (iwr, * (1z]’, end = &7)
enddo
BY continue
backspace iwr
L rlambda = wlarr (jbnd)
jwl = nint((rlambda - (400.d0 - wlstep)) /wlstep)
Framear T 1
wr ¥ jwl| S - 1164593299 =
write (iwr,  (3(a, £0.1})7) '# Sun zenith =, thsd,
B WView azimuth = ', phid, =  View zenith step = ', dthvd
write (iwr, " (a, £5.1, 2a, £5.1}7) "# Wavelength = ',
2 rlambda, ' mm i, /0 =7, saaljwl)
write (iwr, *(a, £8.4, 15x, a, f8.4)7) "# cacl: ’, cacl,
B SErel: Y 2rel
if (cacl .gt. crcl) write (iwr, *(a/a)’ )} trl,
B "# %% Warning!: canopy closure CaCl » crown closure Cril’
write (iwr, " (a)’) trl
* write (iwr, * (2al’} "# the', refl
write (iwr, ’ (da, 4(7x, a), 4(4x, a})’)
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